« ©
o O
e o O
Rapid

Spray
Equipment

Bertolini Pumps POLY 2073
Specification Sheet

APLO750S APLO750KGH
Poly 2073 Pump with 1 3/8" Spline Poly 2073 Pump with GX200 Honda Motor

Poly Pumps - 3 Piston Semi-Hydraulic Diaphragm Pumps

rlow iU

B EE
PRESSURE

Specifications

R.P.M R.P.M 550 550
Power RW HP 2.1 2.8
Weight Rg Lbs 11 24.2 1
Suction Lift - MAX mt ft 1.5 4.9
® Intake mm in 32 114
® High Pressure mm in 25 1"
MAX Temperature oC °F 40 104
0il Type SAE W SAE 30 30W
0il Capacity Lt u.s.G 0.7 0.18

R.P.M 400 450 500 550
BAR P.S.I. I/min RW I/min RW I/min RW I/min RW
2 29 545 0.2 61.4 0.2 68.2 0.3 75.0 0.3
5 72.5 53.8 0.5 60.5 0.6 67.3 0.7 74.0 0.7
10 145 52.4 1.0 58.9 1.2 65.5 1.3 72.0 1.4
15 218 50.9 1.5 57.3 1.7 63.6 1.9 70.0 2.1
Features

= Polypropylene head to withstand the most aggressive chemical products including acids and liquid fertilisers

= Special Dacromet® treatment on the bolts and mounting rails: chemical resistance, rust proof and no maintenance
= Diaphragm washer and bolt made of 316 stainless steel, abrasion and corrosion proof

= 2 piston rings for each piston. Exclusive design which increases diaphragm efficiency

= 316 stainless steel check valves + polypropylene manifold

= Wet end all polypropylene with 316 stainless steel valves

= Also available as a pump and gearbox configuration only — Part number APLO750KG

Freecall 1800 011 000

www.rapidspray.net




Bertolini Pumps POLY 2073
Specification Sheet

OPTIONAL

VERSIONI

VA (D.1" M)

«c ©
o O
e o O
Rapid

Spray
Equipment

1 95.0040.31.2
1 95.0040.332
1 95.0040.002
1 95.0040.36.2
2 28.9809.973
2 63.9800.97.3
3 53.0007.322
4 80.2143.102
5 80.3310.002
] 81.2837.002
7 63.0009.26.2
8 80.1264.002
] 63.0011.262
10 80.6578.00.2
o 5 | 63.0016.26.2
12 80.6475.002
13 26.0047.76.2
14 230005092
14 230045112
15 95.0097 612
16 81.2646.00.2
17 86.3264.002
18 63.0006.61.2
19 63.0001.09.2
20 80.3180.002
il 84.3685.50.2
22 86.2682.502
23 230008322
24 82.4120.002
25 85.2750.00.2
26 80.0021.00.2
27 85.2006.70.2
28 63.0014.092
29 81.8504.502
30 63.0015.012
3 86.3184.002
33 63.9801.973
34 84.3801.502
35 86.3562.50.2
36 86.3002.002

DENOMINAZION

=
DE

PISTON DIAPHRAGM
VITON PISTON DIAPHRAGM (OPT.}
DESMOPAN PISTON DIAPHRAGM (OPT.)
HPS PISTON DIAPHRAGM (OPT.)
S.5. VALVE ASSY

POLYPROP. VALVE ASSY {OPT.)
HOUSING

OIL SEAL DIA 354527

O-RING 4 0X82

BEARING DIA 35x62x14
CRANKSAFT "VS™ VERSION
RING DIA 35

CRANKSHAFT "VP" VERSION
TAB 1048x35

CRANKSHAFT "VA" VERSION
TAB 6,36x6,36x38

RING

LIGHT ALLOY CONROD

BRONZE CONROD [OPT }
CRANKSHAFT SPACER
BEARING DIA 20x52x15

SCREW M10x25 UNIS31
MOUNTING RAIL

CRANKCASE

O-RING 2,62x15,08

WASHER DIA 8,2x15x1,5

SCREW M8x25 UNISS31

OIL FILLER

GASKET DIA 45x19x1.5

OIL FILLER CAP

RING DIA15

PISTON PIN DIA 15

PISTON

PISTON RING

PISTON SLEEVE

SCREW M10x16 UNIS739

KIT SCREWIDISK INOX

WASHER DIA 10,5212

SCREW M10x70 UNIS931

SCREW M8x75 UNIS@31

37
38
39
40
41
42
42
42
43
44
45
45
46
47
47
48
49
50
51
52
53
54
54
54
54
54
55

L e R L L T N R eI - I SRRt

12

84.0542.40.2
80.3219.05.2
83.5089.50.2
80.3218.00.2
80.3218.50.2
80.3207.00.2
630110322
17.0016.61.2
80.3320.60.2
80.3320.70.2
280229322
80.3219.80.2
80.3219.90.2
31.1468.32.2
63.0022.32.2
852585.00.2
24 3016.97.3
81.4574.50.2
80.3219.15.2
84.0570.00.2
84.0561.00.2
84.0566.00.2
84.0571.00.2
84.0591.002
82.0070.00.2

DENOMINAZIONE - DES

WASHER DIA 8,4x17x1,6
WING NUT G.1"1/4

90° ELBOW CONNECTOR DIA 251"

O-RING 30425 VITON

NIPPLES G.1"-G.1"1/4

O-RING DIA 322

O-RING DIA 3x22 {KIT VITON)

O-RING 2.62x29.82 il the 12/98

MANIFOLD

FLANGE

O-RING 5,0x40

O-RING 5.0w40 (KIT VITON)

'VALVE ASSY SPACER

O-RING 3,0039

O-RING 3,0x39 (KIT VITON)

PLAIN SAFETY CONE (OPTIONAL}

HEAD

CAP G.8

SAFETY VALVE 15bar (OPTIONAL}

NUT M8 UNISS88

O-RING 3,0x30 VITON

90° ELBOW CONNECTOR DIA35-1,37"

90° ELBOW CONNECTOR DIA.30-1,18" (OPT.)
90° ELBOW CONNECTOR DIA 32-1,25" (OPT.)
90° ELBOW CONNECTOR DIA 38-1,49" (OPT.)
50° ELBOW CONNECTOR DIA 40-1,57" (OPT.)
WING NUT G.1"122

Rev. 00 01/12/2010

Freecall 1800 011 000

www.rapidspray.net

{



jons
Typewritten Text

jons
Typewritten Text

jons
Typewritten Text

jons
Typewritten Text

jons
Typewritten Text

jons
Typewritten Text

jons
Typewritten Text

jons
Typewritten Text

jons
Typewritten Text

jons
Typewritten Text

jons
Typewritten Text

jons
Typewritten Text

jons
Typewritten Text

jons
Typewritten Text

jons
Typewritten Text

jons
Typewritten Text

jons
Typewritten Text

jons
Typewritten Text


	Bertolini-Pumps-APL0220-SPEC-015.pdf
	Untitled

	Bertolini-Pumps-APL0220-SPEC-015.pdf
	Untitled




